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Unit 6 - Week 4

Course outline

Assignment 4

The due date for submitting this assignment has passed. Due on 2020-10-14, 23:59 |ST.
As per our records you have not submitted this assignment.

How does an NPTEL online
course work?

Week 0
NOTE: Please note that multiple options may be correct.
Week 1
Week 2 1) Which of the following numbers are solutions to the following system of 1 point
simultaneous linear congruences. n =1 (mod 4), n =2 (mod 3)?
Week 3
137,
Week 4 161,
# Leciure 16 : Solving linear 208,
polynomialz modulo n - IV 233,
Lecture 17 : Chinese remainder 281,
theorem, the initial cases 353
@ Lacture 18 - Chinese remainder Mo, the answer is incorrect.
theorem. the general case and Score: 0
examples Accepted Answers:
137,
Lecture 19 : Chinese remainder 164
theorem, more examples 209,
@ Lecture 20 - Using the CRT, 233,
gquare roots of 1in £n 281,
Quiz » Azzignment 4 333
Assignment-4 Solutions 2) Which of the following numbers are solutions to the following system of 1 point
e e simultaneous linear congruences: n =7 (mod 9), n =3 (mod 4)7
Solutions
259
Weekly Feedback 287,
Download Videos 211,
335,
Week 5
37,
Week & 403.
Mo, the answer is incorrect.
Week 7 Score: 0
Accepted Answers:
Week 8 239,
403.
Week 9
3} Which of the following numbers are solutions to the following system of 1 point
Week 10 simultaneous linear congruences: 3n =6 (mod 12), 3n =1 (mod 5)?
422
Week 11
432,
Week 12 212,
h62,
Live Session 5G2,
662
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
422
482
262,
662,
4) ‘Which of the following numbers are solutions to the following system of 1 point

simultaneous linear congruences. n =1 (mod 4), n=2 (mod 3).n =3 (mod 5)7?

733,
773
233
953
083,
993.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
773,

833,
933,

5) 'Which of the following numbers are solutions to the following system of simultaneous linear congruences:n =2 (mod 7), n=7 (mod 9), 1 point
n=23 (mod 4)?

1087,
1159.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
835,

1057,

6) Which of the following numbers are solutions to the following system of 1 point
simultaneous linear congrugnces: 3n =6 (mod 12).2n =5 (mod 7). 3n =1 (mod 5)7?

662,
762
782
902
072,
992

Mo, the answer is incorrect.
Score: 0

Accepted Answers:

762,

902,

7} Which of the following numbers are solutions to the following system of 1 point
simultaneous linear congruences. n =1 (mod 5),n=2 (mod 7)n=3 (mod 9),n=4 (mod 11)7

15561,
1641,
1731,
1821,
1911,
1961.
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
1731,
8) Which of the following numbers are solutions to the following system of 1 point

simultaneous linear congruences: 2n =1 (mod 3), 3n=1 (mod 5), 4n =1 (mod 7), 5n =1 (mod 11)7

1052,
1157,
1262,
1367,
1472,

1577.
Mo, the answer is incorrect.
Score: 0

Accepted Answers:
1472

9) For which of the following 3-tuples of integers (a, b, ¢) do we have a solufion to the system of simultaneous linear congruences: n = a (mod 3), 1 point
n=>5b (mod 4), n = ¢ (mod 12)?

(0, 2, 6),
(1,1, 5),
(1,3,7),
(0,0, 8),
(0,1,9),

(1,1,10).
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
[D'.- 21 ﬁ}
(1,3,7).
(0,1,9).
10) For which of the following 4-tuples of integers (a, b, ¢, d) do we have a solution to the system of simultaneous linear congruences: n = a (mod 2) 1 point
n=>5b(mod 3),n=c (mod 4).,n =d (mod 6)?

(1,0,3,2).
(0,1,0,4),
(0,0,3,0),
(1,1,2,1).
(0,1,2,5).
(1,2,3,5).

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
(0,1,0,4).

(1,2,3,5).



